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Determinants 

Class 12th  
 Solve for x 

Q.1) 
Solve   

∣
∣
∣
∣𝑎 + 𝑥𝑎 − 𝑥𝑎 − 𝑥
𝑎 − 𝑥𝑎 + 𝑥𝑎 − 𝑥
𝑎 − 𝑥𝑎 + 𝑥𝑎 + 𝑥∣

∣
∣
∣

= 0 

Sol.1) 𝑐1 → 𝑐1 + 𝑐2 + 𝑐3 

       ⇒  
∣
∣
∣
∣3a − 𝑥𝑎 − 𝑥𝑎 − 𝑥
3a − 𝑥𝑎 + 𝑥𝑎 − 𝑥
3a − 𝑥𝑎 − 𝑥𝑎 + 𝑥∣

∣
∣
∣

= 0 

taking (3a– 𝑥)common from 

       ⇒  (3a − 𝑥)
∣
∣
∣
∣1𝑎 − 𝑥𝑎 − 𝑥
1𝑎 + 𝑥𝑎 − 𝑥
1𝑎 − 𝑥𝑎 + 𝑥∣

∣
∣
∣

= 0 

𝑅2 → 𝑅2 − 𝑅1and𝑅3 → 𝑅3 − 𝑅1 

       ⇒  (3a − 𝑥)
∣
∣
∣
∣1𝑎 − 𝑥𝑎 − 𝑥

0      2x      0
0      0      2x ∣

∣
∣
∣

= 0 

taking 2x common from 𝑅2&𝑅3both 

       ⇒  (3a − 𝑥)(2x)(2x)
∣
∣
∣
∣1𝑎 − 𝑥𝑎 − 𝑥
0        1        0
0        0        1∣

∣
∣
∣

= 0 

expanding along R1 

       ⇒  (3a − 𝑥)(4x2)[1(1) − 0 + 0] = 0 

       ⇒  (3a − 𝑥)(4x2) = 0 

       ⇒  𝑥 = 3a, 𝑥 = 0             ans. 

Q.2) 
Solve

∣
∣
∣
∣ 𝑥 − 22x − 33x − 4

𝑥 − 42x − 93x − 16
𝑥 − 82x − 273x − 64∣

∣
∣
∣

= 0 

Sol.2) 
We have

∣
∣
∣
∣ 𝑥 − 22x − 33x − 4

𝑥 − 42x − 93x − 16
𝑥 − 82x − 273x − 64∣

∣
∣
∣

= 0 

𝑅2 → 𝑅2 − 𝑅1and𝑅3 → 𝑅3 − 𝑅1 

       ⇒  
∣
∣
∣
∣𝑥 − 22x − 33x − 4

−2 − 6 − 12
−6 − 24 − 60 ∣

∣
∣
∣

= 0 

𝑐2 → 𝑐2 − 2c1and𝑐3 → 𝑐3 − 3c1 

       ⇒  
∣
∣
∣
∣ 𝑥 − 212

−2 − 2 − 6
−6 − 12 − 42∣

∣
∣
∣

= 0 

taking (–2) and (–6) common from R2 & R3 respectively 

       ⇒  12
∣
∣
∣
∣𝑥 − 212

113
127 ∣

∣
∣
∣

= 0 

expanding along R1 

       ⇒  12[(𝑥 − 2)(7 − 6) − 1(7 − 3) + 2(2 − 1)] = 0 

       ⇒  12[𝑥 − 2 − 4 + 2] = 0 
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       ⇒  12(𝑥 − 4) = 0 

       ⇒  𝑥 = 4               ans. 

 Proving Questions 

Q.3) 
Show that

∣
∣
∣
∣1 𝑎 𝑎2

1 𝑏 𝑏2

1 𝑐 𝑐2∣
∣
∣
∣

= (𝑎 − 𝑏)(𝑏 − 𝑐)(𝑐 − 𝑎) 

Sol.3) 
let ∆=

∣
∣
∣
∣1 𝑎 𝑎2

1 𝑏 𝑏2

1 𝑐 𝑐2∣
∣
∣
∣

= 0 

𝑅2 → 𝑅2 − 𝑅1and𝑅3 → 𝑅3 − 𝑅1 

        =   
∣
∣
∣
∣1 𝑎 𝑎2

0 𝑏 − 𝑎 𝑏2 − 𝑎2

0 𝑐 − 𝑎 𝑐2 − 𝑎2∣
∣
∣
∣
 

taking (b-a) and (c-a) common from R2 & R3 respectively 

        =  (𝑏 − 𝑎)(𝑐 − 𝑎)
∣∣
∣∣
∣1 𝑎 𝑎2

0 1 b + a
0 1 c + a∣∣

∣∣
∣
 

expanding along R1 

        =  (𝑏 − 𝑎)(𝑐 − 𝑎)[1(𝑐 + 𝑎 − 𝑏 − 𝑎) − 𝑎(0) + 𝑎2(0)] 

        =  (𝑏 − 𝑎)(𝑐 − 𝑎)(𝑐 − 𝑏) 

        =  (𝑎 − 𝑏)(𝑏 − 𝑐)(𝑐 − 𝑎)         = RHS        Proved 

Q.4) 
Show that

∣
∣
∣
∣ 𝑎     𝑏      𝑐
𝑎2   𝑏2   𝑐2

𝑏𝑐   𝑐𝑎   𝑎𝑏∣
∣
∣
∣

=
∣
∣
∣
∣ 1   1   1
𝑎2   𝑏2   𝑐2

𝑎3   𝑏3   𝑐3∣
∣
∣
∣

= (𝑎 − 𝑏)(𝑏 − 𝑐)(𝑐 − 𝑎)(𝑎𝑏 + 𝑏𝑐 + 𝑐𝑎) 

Sol.4) 
let ∆=

∣
∣
∣
∣ 𝑎     𝑏       𝑐
𝑎2   𝑏2   𝑐2

𝑏𝑐   𝑐𝑎   𝑎𝑏∣
∣
∣
∣
 

𝑐1 → 𝑎𝑐1; 𝑐2 → 𝑏𝑐2and𝑐3 → 𝑎𝑐3 

        =  
1

𝑎𝑏𝑐 ∣
∣
∣
∣ 𝑎2   𝑏2   𝑐2

𝑎3   𝑏3   𝑐3

𝑎𝑏𝑐   𝑎𝑏𝑐   𝑎𝑏𝑐∣
∣
∣
∣
 

taking abc common from C3 

        =  
𝑎𝑏𝑐

𝑎𝑏𝑐 ∣
∣
∣
∣ 𝑎2   𝑏2   𝑐2

𝑎3   𝑏3   𝑐3

1        1      1∣
∣
∣
∣
 

𝑐2 ↔ 𝑐3 

        =  −
∣
∣
∣
∣𝑎2   𝑏2    𝑐2

1    1    1
𝑎3    𝑏3     𝑐3 ∣

∣
∣
∣
 

𝑐1 ↔ 𝑐2 

        =  
∣
∣
∣
∣ 1    1    1
𝑎2    𝑏2    𝑐2

𝑎3    𝑏3    𝑐3 ∣
∣
∣
∣
 

𝑐2 → 𝑐2 − 𝑐1and𝑐3 → 𝑐3 − 𝑐1 

       = |
1 0 0

𝑎2 𝑏2 − 𝑎2 𝑐2 − 𝑎2

𝑎3 (𝑏 − 𝑎)(𝑏2 + 𝑎𝑏 + 𝑎2) (𝑐 − 𝑏)(𝑐2 + 𝑎𝑐 + 𝑎2)
| 
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taking (𝑏– 𝑎)and (𝑐– 𝑏)common from 𝑐2& 𝑐3 

        =  (𝑏 − 𝑎)(𝑐 − 𝑎) |
1 0 0

𝑎2 𝑏 + 𝑎 c + a
𝑎3 𝑏2 + 𝑎𝑏 + 𝑞2 𝑐2 + 𝑎𝑐 + 𝑎2

| 

expanding along R1 

        =  (𝑏 − 𝑎)(𝑐 − 𝑎)[(𝑏 + 𝑎)(𝑐2 + 𝑎𝑐 + 𝑎2) − (𝑐 + 𝑎)(𝑏2 + 𝑎𝑏 + 𝑎2)] 
        =  (𝑏 − 𝑎)(𝑐 − 𝑎)[𝑏𝑐2 + 𝑎𝑏𝑐 + 𝑎2𝑏 + 𝑎𝑐2 + 𝑎2𝑐 + 𝑎3 − 𝑏2𝑐 − 𝑎𝑏𝑐 − 𝑎2𝑐 − 𝑎𝑏2 − 𝑎2𝑏 − 𝑎3] 

        =  (𝑏 − 𝑎)(𝑐 − 𝑎)(𝑏𝑐2 + 𝑎𝑐2 − 𝑏2𝑐 − 𝑎𝑏2) 

        =  (𝑏 − 𝑎)(𝑐 − 𝑎)[𝑏𝑐(𝑐 − 𝑏) + 𝑎(𝑐2 − 𝑏2)] 

        =  (𝑏 − 𝑎)(𝑐 − 𝑎)(𝑐 − 𝑏)[𝑏𝑐 + 𝑎(𝑐 + 𝑏)] 

        =  (𝑏 − 𝑎)(𝑐 − 𝑎)(𝑐 − 𝑏)(𝑏𝑐 + 𝑎𝑐 + 𝑎𝑏) 

        =  (𝑎 − 𝑏)(𝑏 − 𝑐)(𝑐 − 𝑎)(𝑎𝑏 + 𝑏𝑐 + 𝑎𝑐)= RHS 

Q.5) 
Show that 

∣
∣
∣
∣𝑎 + 𝑏 + 2𝑐 𝑎 𝑏

𝑐 𝑏 + 𝑐 + 2a b
c 𝑎 𝑐 + 𝑎 + 2b∣

∣
∣
∣

= 2(𝑎 + 𝑏 + 𝑐)3 

Sol.5) 𝑐1 → 𝑐1 + 𝑐2 + 𝑐3 

        =  
∣
∣
∣
∣
∣2(𝑎 + 𝑏 + 𝑐) 𝑎 𝑏
2(𝑎 + 𝑏 + 𝑐) 𝑏 + 𝑐 + 2a b
2(𝑎 + 𝑏 + 𝑐) 𝑎 𝑐 + 𝑎 + 2b∣

∣
∣
∣
∣
 

taking 2(a + b + c) common from C1 

        =  2(𝑎 + 𝑏 + 𝑐)
∣
∣
∣
∣1 𝑎 𝑏
1 𝑏 + 𝑐 + 2a b
1 𝑎 𝑐 + 𝑎 + 2b∣

∣
∣
∣
 

𝑅2 → 𝑅2 − 𝑅1and𝑅3 → 𝑅3 − 𝑅1 

        =  2(𝑎 + 𝑏 + 𝑐)
∣
∣
∣
∣1 𝑎 𝑏
0 𝑏 + 𝑐 + 2a b
0 𝑎 𝑐 + 𝑎 + 2b∣

∣
∣
∣
 

expanding along R1 

        =  2(𝑎 + 𝑏 + 𝑐)[(𝑎 + 𝑏 + 𝑐)(𝑎 + 𝑏 + 𝑐)] = 2(𝑎 + 𝑏 + 𝑐)3       ans. 

Q.6) 

Show 

∣
∣
∣
∣
∣ 𝛼 𝛽 𝛾

𝛼2 𝛽2 𝛾2

𝛽 + 𝛾 𝛾 + 𝛼 𝛼 + 𝛽∣
∣
∣
∣
∣

= (𝛼 − 𝛽)(𝛽 − 𝛾)(𝛾 − 𝛼)(𝛼 + 𝛽 + 𝛾) 

Sol.6) 𝑅3 → 𝑅3 + 𝑅1 

        =  

∣
∣
∣
∣
∣ 𝛼 𝛽 𝛾

𝛼2 𝛽2 𝛾2

𝛼 + 𝛽 + 𝛾 𝛼 + 𝛽 + 𝛾 𝛼 + 𝛽 + 𝛾∣
∣
∣
∣
∣
 

taking(𝛼 + 𝛽 + 𝛾)common from R3 

        =  (𝛼 + 𝛽 + 𝛾)
∣
∣
∣
∣
∣𝛼          𝛽          𝛾

𝛼2       𝛽2       𝛾2

1       1            1 ∣
∣
∣
∣
∣
 

𝑐2 → 𝑐2 − 𝑐1and𝑐3 → 𝑐3 − 𝑐1 

        =  (𝛼 + 𝛽 + 𝛾)
∣
∣
∣
∣
∣ 𝛼                𝛽 − 𝛼                𝛾 − 𝛼

𝛼2             𝛽2 − 𝛼2            𝛾2 − 𝛼2   

1                     0                      0 ∣
∣
∣
∣
∣
 

taking(𝛽 − 𝛼)and(𝛾 − 𝛼)common from C2 & C3 respectively 
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        =  (𝛼 + 𝛽 + 𝛾)(𝛽 − 𝛼)(𝛾 − 𝛼)
∣
∣
∣
∣ 𝛼          1          1
𝛼2       𝛽 − 𝛼       𝛾 − 𝛼

1       0            0 ∣
∣
∣
∣
 

expanding 

        =  (𝛼 + 𝛽 + 𝛾)(𝛽 − 𝛼)(𝛾 − 𝛼)[𝛼(0) + 1(𝛾 + 𝛼) + 1(−𝛽 − 𝛼)] 

        =  (𝛼 + 𝛽 + 𝛾)(𝛽 − 𝛼)(𝛾 − 𝛼)(𝛾 + 𝛼 − 𝛽 − 𝛼) 

        =  (𝛼 + 𝛽 + 𝛾)(𝛽 − 𝛼)(𝛾 − 𝛼)(𝛾 − 𝛽) 

        =  (𝛼 − 𝛽)(𝛽 − 𝛾)(𝛾 − 𝛼)(𝛼 + 𝛽 + 𝛾)= RHS 

Q.7) 
Show

∣
∣
∣
∣b + c 𝑎 − 𝑏 𝑎
𝑐 + 𝑎 𝑏 − 𝑐 𝑏
𝑎 + 𝑏 𝑐 − 𝑎 𝑐∣

∣
∣
∣

= 3abc − 𝑎3 − 𝑏3 − 𝑐3 

Sol.7) 𝑅1 → 𝑅1 + 𝑅2 + 𝑅3 

        =  
∣
∣
∣
∣2(a + b + c) 0 𝑎 + 𝑏 + 𝑐

𝑐 + 𝑎 𝑏 − 𝑐 𝑏
𝑎 + 𝑏 𝑐 − 𝑎 𝑐 ∣

∣
∣
∣
 

taking (a + b + c) common from R1 

        =  (𝑎 + 𝑏 + 𝑐)
∣
∣
∣
∣ 2 0 1
𝑐 + 𝑎 𝑏 − 𝑐 𝑏
𝑎 + 𝑏 𝑐 − 𝑎 𝑐∣

∣
∣
∣
 

𝑐1 → 𝑐1 − 2c3 

        =  (𝑎 + 𝑏 + 𝑐)
∣
∣
∣
∣ 0 0 1
𝑐 + 𝑎 − 2𝑏 𝑏 − 𝑐 𝑏
𝑎 + 𝑏 − 2𝑐 𝑐 − 𝑎 𝑐∣

∣
∣
∣
 

expanding along R1 

        =  (𝑎 + 𝑏 + 𝑐)[1(𝑐 + 𝑎 − 2b)(𝑐 − 𝑎) − (𝑎 + 𝑏 − 2c)(𝑏 − 𝑐)] 

        =  (𝑎 + 𝑏 + 𝑐)[𝑐2 − 𝑎𝑐 + 𝑎𝑐 − 𝑎2 − 2bc + 2ab − 𝑎𝑏 + 𝑎𝑐 − 𝑏2 + 𝑏𝑐 + 2bc − 2c2] 

        =  (𝑎 + 𝑏 + 𝑐)(−𝑎2 − 𝑏2 − 𝑐2 + 𝑎𝑏 + 𝑏𝑐 + 𝑐𝑎) 

        =  −(𝑎 + 𝑏 + 𝑐)(𝑎2 + 𝑏2 + 𝑐2 − 𝑎𝑏 − 𝑏𝑐 − 𝑐𝑎) 

        =  −[𝑎3 + 𝑏3 + 𝑐3 − 3abc] 

        =  3abc − 𝑎3 − 𝑏3 − 𝑐3   = RHS               ans. 

Q.8) 
Show

∣
∣
∣
∣1   𝑥   𝑥2

𝑥2   1   𝑥
𝑥   𝑥2   1∣

∣
∣
∣

= (𝑥3 − 1)2 

Sol.8) 𝑐1 → 𝑐1 + 𝑐2 + 𝑐3 

        =  
∣∣
∣∣
∣1 + 𝑥 + 𝑥2 𝑥 𝑥2

1 + 𝑥 + 𝑥2 1 𝑥
1 + 𝑥 + 𝑥2 𝑥2 1 ∣∣

∣∣
∣
 

taking (1 + 𝑥 + 𝑥2) common from C1 

        =  (1 + 𝑥 + 𝑥2)
∣
∣
∣
∣ 1   𝑥   𝑥2

1    1    𝑥
1    𝑥2    1∣

∣
∣
∣
 

𝑅 → 𝑅2 − 𝑅1and𝑅3 → 𝑅3 − 𝑅1 

        =  (1 + 𝑥 + 𝑥2)
∣
∣
∣
∣1 𝑥 𝑥2

0 1 − 𝑥 𝑥 − 𝑥2

1 𝑥2 − 𝑥 1 − 𝑥2∣
∣
∣
∣
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        =  (1 + 𝑥 + 𝑥2)
∣
∣
∣
∣
∣1 𝑥 𝑥2

0 1 − 𝑥 𝑥(1 − 𝑥)
0 −𝑥(1 − 𝑥) (1 + 𝑥)(1 − 𝑥)∣

∣
∣
∣
∣
 

taking (1 – x) common from R2 & R3 both 

        =  (1 + 𝑥 + 𝑥2)(1 − 𝑥)2

∣∣
∣∣
∣1 𝑥 𝑥2

0 1 𝑥
0 −𝑥 1 + 𝑥∣∣

∣∣
∣
 

expanding 

        =  (1 + 𝑥 + 𝑥2)(1 − 𝑥)2[1 + 𝑥 + 𝑥2] 

        =  (1 − 𝑥)2(1 + 𝑥 + 𝑥2)2 

        =  [(1 − 𝑥)(1 + 𝑥 + 𝑥2)]2 

        =  (1 − 𝑥3)2               …..{𝑎3 − 𝑏3 = (𝑎 − 𝑏)(𝑎2 + 𝑎𝑏 + 𝑏2)} 

        =  (𝑥3 − 1)2   = RHS            …..{(𝑎 − 𝑏)2 = (𝑏 − 𝑎)2} 

Q.9) 
Show

∣
∣
∣
∣ 𝑎2 2𝑎𝑏 𝑏2

𝑏2 𝑎2 2𝑎𝑏
2𝑎𝑏 𝑏2 𝑏2 ∣

∣
∣
∣

= (𝑎3 + 𝑏3)2 

Sol.9) 𝑐1 → 𝑐1 + 𝑐2 + 𝑐3 

        =  
∣∣
∣∣
∣𝑎2 + 2ab + 𝑏2 2𝑎𝑏 𝑏2

𝑎2 + 2ab + 𝑏2 𝑎2 2𝑎𝑏
𝑎2 + 2ab + 𝑏2 𝑏2 𝑎2 ∣∣

∣∣
∣
 

        =  (𝑎 + 𝑏)2

∣
∣
∣
∣1   2ab   𝑏2

1   𝑎2   2ab
1    𝑏2     𝑎2∣

∣
∣
∣
 

𝑅2 → 𝑅2 − 𝑅1and𝑅3 → 𝑅3 − 𝑅1 

        =  (𝑎 + 𝑏)2

∣
∣
∣
∣1 2𝑎𝑏 𝑏2

0 𝑎2 − 2𝑎𝑏 2𝑎𝑏 − 𝑏2

0 𝑏2 − 2𝑎𝑏 𝑎2 − 𝑏2 ∣
∣
∣
∣
 

expanding along R1 

        =  (𝑎 + 𝑏)2[(𝑎2 − 2ab)(𝑎2 − 𝑏2) − (𝑏2 − 2ab)(2ab − 𝑏2)] 

        =  (𝑎 + 𝑏)2[𝑎4 − 𝑎2𝑏2 − 2a3𝑏 + 2ab3 − 2ab3 + 𝑏4 + 2a2𝑏2 − 2ab3] 

        =  (𝑎 + 𝑏)2[𝑎4 + 𝑏4 + 𝑎2𝑏2 − 2a3𝑏 + 2a2𝑏2 − 2ab3] 

        =  (𝑎 + 𝑏)2(𝑎2 = 𝑎𝑏 + 𝑏2)2            …..{(𝑎 + 𝑏 + 𝑐)2 = 𝑎2 + 𝑏2 + 𝑐2 + 2ab + 2bc + 2ca} 

        =  [(𝑎 + 𝑏)(𝑎2 − 𝑎𝑏 + 𝑏2)]2 

        =  (𝑎3 + 𝑏3)2          ans. 

Q.10) 

Show
∣∣
∣∣
∣𝑎2 + 1𝑎𝑏𝑎𝑐
𝑎𝑏𝑏2 + 1𝑏𝑐
𝑐𝑎𝑐𝑏𝑐2 + 1∣∣

∣∣
∣

= 1 + 𝑎2 + 𝑏2 + 𝑐2 

Sol.10) 𝑅1 → 𝑎𝑅1, 𝑅2 → 𝑏𝑅2and𝑅3 → 𝑐𝑅3 

        =  
1

𝑎𝑏𝑐 ∣∣
∣∣
∣𝑎3 + 𝑎𝑎2𝑏𝑎2𝑐
𝑎𝑏2𝑏3 + 𝑏𝑏2𝑐
𝑐2𝑎𝑐2𝑏𝑐3 + 𝑐 ∣∣

∣∣
∣
 

taking a , b , c common from𝑐1, 𝑐2 & 𝑐3respectively 

        =  
𝑎𝑏𝑐

𝑎𝑏𝑐 ∣∣
∣∣
∣𝑎2 + 1𝑎2𝑎2

𝑏2𝑏2 + 1𝑏2

𝑐2𝑐2𝑐2 + 1 ∣∣
∣∣
∣
 

𝑅1 → 𝑅1 + 𝑅2 + 𝑅3 
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        =  
∣∣
∣∣
∣1 + 𝑎2 + 𝑏2 + 𝑐21 + 𝑎2 + 𝑏2 + 𝑐21 + 𝑎2 + 𝑏2 + 𝑐2

𝑏2𝑏2 + 1𝑏2

𝑐2𝑐2𝑐2 + 1 ∣∣
∣∣
∣
 

        =  (1 + 𝑎2 + 𝑏2 + 𝑐2)
∣
∣
∣
∣ 111
𝑏2𝑏2 + 1𝑏2

𝑐2𝑐2𝑐2 + 1∣
∣
∣
∣
 

𝑐2 → 𝑐2 − 𝑐1and𝑐3 → 𝑐3 − 𝑐1 

        =  (1 + 𝑎2 + 𝑏2 + 𝑐2)
∣
∣
∣
∣ 100
𝑏210
𝑐201∣

∣
∣
∣
 

expanding 

        =  (1 + 𝑎2 + 𝑏2 + 𝑐2)[1] = 1 + 𝑎2 + 𝑏2 + 𝑐2= RHS 
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